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Diff0l1 Answers for No.9395
Ansl=(k=7), , Ans2=(k=3), , Ans3= [‘2:_'3}, , Ansd = [Z - g}
'21_:((94’349)) i d=[fa)=109]
R 2=[f(b)=120.48, h = 0.2, RateOfChange = 57.400 ]
AnsS = o , , Ans6=| .3=[f(c)=114.67, h=0.1, RateOfChange = 56.700 ]
4=[f(d)=109.5607, h = 0.01, RateOfChange = 56.070]

4=(5,7)
Zzg L .5 =[RateOfChange at the point a = 56| |
i I=[f(r)=2nr] ] | A =[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= 3 n(r+h)2—nr2}
. - h . = h
[4=[2n],.5=[2n],.6=[2n]] [4=[2nr],.5=[16n],.6=[12n]]]
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2
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Diff0l1 Answers for No.9419
a=2 a=6
Ansl = (k=3), , Ans2=(k=2), , AnSS_[b=-4J’ , Ans4—[b:2}
'2]_: ((42’280)) | 1 =[fla)=67] |
I 2=[1f(b)=76.92, h=0.2, RateOfChange = 49.600 ]

3=[f(c)=71.88, h=0.1, RateOfChange = 48.800 |
4=[f(d)=67.4808, h =0.01, RateOfChange = 48.080 ]
.5 =[RateOfChange at the point a = 48 ]

3=6
AnsS = 4=(3.13) , Ans6 =

5=5
. 6=4 | -
i d=[f(r)=2nr] | | d=[f(r)=nr"] |
=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]
Ans7 = {271(““}1) 27”’} , ., Ans8= 5 [Tt(r+h)2—nr2}
. h
[4=[2nr],.5=[14n],.6=[6n]]]

=[2n],.5=[2n],.6=[2n]]] [.4=

ﬁxﬂ
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B h

[y o 2E]
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Diff0l Answers for No.9428
Ansl=(k=3), , Ans2=(k=4), , Ans3= [b___'ﬂ , Ans4:[2iﬂ
.2]_2((85,256)) - I =[fla)=23] _
S 2=[f(b)=28.88, h=0.2, RateOfChange = 29.400]
AnsS = 4_'(g 10) , Ans6=| 3=[f(c)=25.87,h=0.1, RateOfChange = 28.700 ]
S 4=[f(d)=23.2807, h=0.01, RateOfChange = 28.070 ]
.6:4 L .5 = [RateOfChange at the point a =28 ] J
I=[fr)=27r] 1 I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]
Ans7 = |:27I(I”+h) 2nr} , ., Ans8= ; [Tt(r+h)2—nr2}
T h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[6n],.6=[10n]]]
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Diff0l Answers for No.9459
Ansl = (k=-2), , Ans2=(k=6), , Ans3= [b_ﬂ ,Ans4=[giﬂ
32 ) " ~[ft)=36) “
' ‘3 s 2=[f(b)=41.88, h=0.2, RateOfChange = 29.400 ]
AnsS = 4_(_3 5) b , Ans6=| .3=[f(c)=38.87,h=0.1, RateOfChange = 28.700 ]
' ‘5 5 4=[f(d)=36.2807, h = 0.01, RateOfChange = 28.070
s B ) L .3 =[RateOfChange at the point a =28 |
A=[f(ry=2nr] | d=[f(r)=nr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} ., AnsS= n(r+h)2—nr2}
B h
=[2n], 5—[2Tr] 6=[2n]]l [4=[2nr],.5=[6n],.6=[14n]]]
_[f _ﬁxz}
=| f(x)="—,
A3 (x4
=| fewhy="—"——
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2n]5—[2n]6 [2n]].

Diff0l1 Answers for No.9476
a==6 a=2
Ansl = (k=3), , Ans2=(k=06), , Ans3—[b:1}, , AnM_[b:J
g " 1=l =52 “
’ _3 _6 2=[f(b)=58.20, h=0.2, RateOfChange = 31.000 ]
AnsS = 4_(_5 7) b , Ans6=| .3=[f(c)=55.05h=0.1, RateOfChange = 30.500 ]
) _5 N ’3 4=[f(d)=52.3005, h=0.01, RateOfChange = 30.050 ]

s B ) L .3 =[RateOfChange at the point a =30 ]
I=[fr)=27r] I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]

Ans7 = [27f(r+h) 27”} ., AnsS= n(r+h)2—nr2}
- h
L[4=[2nr],.5=[6n],.6=[12m]]]

Ans9 =
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Diff0l Answers for No.9491
a=4 a=>5
Ansl =(k=4), , Ans2=(k=4), , Ans3—[b:2}, , Ans4—[b:3}
'2]_: ((63 ’289)) | 1 =[fla)=26] |
’ _3 _’7 2=[1(b)=30.20, h =0.2, RateOfChange = 21.000 ]
T Ans6=| .3 =[f(c)=28.05, h=0.1, RateOfChange = 20.500 ]

2 2

4=[f(d)=26.2005, h = 0.01, RateOfChange = 20.050 ]

AnsY=| 4 (4,13)
.5 =[RateOfChange at the point a =20 ]

5=5
. 6=4 | -
A=[f(ry=2nr] ] | d=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} , , Ans8= ; Tt(r+h)2—nr2}
3= p 3= p
[4=[2n],.5=[2x],.6=[2x]]] [4=[2nr],.5=[12n],.6=[10m]]

ﬁxﬂ

A =[f(x)= 1

B h
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M
2
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4 h
Ans9 = ﬁ(x+h)2_ﬁx2 e
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Diff0l Answers for No.9633
Ansl =(k=1), , Ans2=(k=6), , AnSS:B?:—-S}’ , AnM:[Ziﬂ
‘21_:((62’226)) i 1 =[f(a)=106] l
e 2=[f(b)=117.48, h = 0.2, RateOfChange = 57.400 ]
AnsS = 4_(_3 5) , Ans6=| .3=[f(c)=111.67, h=0.1, RateOfChange = 56.700 ]
B 4=[f(d)=106.5607, h = 0.01, RateOfChange = 56.070]
‘6 B ) L .5 = [RateOfChange at the point a = 56 ] i
d=[f(r)=2mr] ] | A =[fr)=n+] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)y=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
T h 3= i
L[4=[2n],.5=[2n],.6=[2n]]. [4=[2nr],.5=[10x%],.6=[127]].

ﬁxﬂ
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M
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4 h
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Diff0l Answers for No.9711

a=-78 a=2
Ansl =(k=1T7), , Ans2=(k=06), , Ans3—[ b3 }, , AnM_[sz
é]—: ((95’357)) _ = [Ra)=51] |
' _3 —’8 2=[f(b)=57.20, h=0.2, RateOfChange = 31.000 ]
AnsS = 4—(% 10) , Ans6=| .3=[f(c)=54.05, h=0.1, RateOfChange = 30.500 ]
' _5 _’5 4=[f(d)=51.3005, h=0.01, RateOfChange = 30.050 ]
.6_4 L .5 = [RateOfChange at the point a = 30 ] J
I=[fr)=27r] I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} ., AnsS= n(r+h)2—nr2}
o h
L[ 4=[27nr],.5=[14n],.6=[67]]]

=[2n], 5—[21c] 6=[2n]]

[f(X)—

ﬁxz}
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Diff0l Answers for No.9784
a:2 a:5
Ansl =(k=1T7), , Ans2=(k=3), , Ans3—[b:_3l}, , Ans4—[b:3}
) _3 5 2=[f(b)=12.36, h=0.2, RateOfChange = 16.800 ]
AnsS = 4_(_2 70 , Ans6=| .3=[f(c)=10.64, h=0.1, RateOfChange = 16.400 ]
’ _5_’3 =[f(d)=9.1604, h = 0.01, RateOfChange = 16.040 ]

6 B ) L .5 =[RateOfChange at the point a = 16 ]
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]

Ans7 = {2n(r+h) 2nr} , , Ans8 = ; Tt(r+h)2—nr2}
o h
2n]5—[2n]6’[2ﬁﬂ [4=[2nr],.5=[12n],.6=[6n]]]

ﬁxﬂ
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.2:[& +h J_(x+h)}
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Diff0l1 Answers for No.10143
a=>5 a=4
Ansl =(k=T7), , Ans2 =(k=4), , Ans3—[b:1}, , AnM_[b:J
'21_:((52’267)) i d=[fa)=106] ]
' _3 _’7 2=[f(b)=117.48, h =0.2, RateOfChange = 57.400 ]
AnsS = 4;(; 1) , Ans6=| .3=[f(c)=111.67, h=0.1, RateOfChange = 56.700 ]
' _5 _’5 4 =[1(d)=106.5607, h = 0.01, RateOfChange = 56.070 ]
‘6:4 L .5 = [RateOfChange at the point a = 56 ] il
d=[f(r)=2mr] ] | d=[f(r)=nr] |
2=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2ﬂr} ., Ans8= n(r+h) —nr
L[4=[2n],.5=[2n],.6=[2n]]. L[ 4=[2nr],.5=[6n],.6=[4n]]
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Diff0l Answers for No.10626

a=2 a=2
Ansl =(k=15), , Ans2 =(k=4), , Ans3—[b:1}, , Ans4—[b:7}
' _3 e 2=[f(b)=31.72, h=0.2, RateOfChange = 33.600 ]
AnsS = 4_'(; 13) , Ans6=| 3=[f(c)=28.28,h=0.1, RateOfChange = 32.800 ]
' _5 s 4 =[f(d)=25.3208, h = 0.01, RateOfChange = 32.080 ]
.6:4 L .5 = [RateOfChange at the point a = 32]
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
T h 3= i
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[147],.6=[10x]]]
]_[f _ﬁxﬂ
A= 1f(x)= 1 o
A3 (x4 a
2=l fre by =" t
Ans9 = I3 eeny 435 . é
_ 4 4 M
3= p U
3 | T
[.4=[%},.5=[3«/§],.6=[4«/§]}
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Diff0l Answers for No.11002
a=46 a=4
Ansl =(k=2), , Ans2=(k=4), , AnSS—[b:_J, , Ans4—[b:2}
'2] _:((73’382)) r —[f(a)=17] ]
' ‘3 e 2=[f(b)=22.04, h=0.2, RateOfChange = 25.200
AnsS = 4_'(:1 1) , Ans6=| .3=[f(c)=19.46, h=0.1, RateOfChange = 24.600 ]
' _5 s 4=[f(d)=17.2406, h = 0.01, RateOfChange = 24.060 ]
.6 B ) L .5 =[RateOfChange at the point a = 24 ] ]
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = _[2n(r+h)—2nr} ., Ans8= T (r+hY—n i
. p _ p
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nrr],.5=[14n],.6=[107]]]
_[f _«/;xﬂ
=| f(x)="—,
+h
.2=[f( “h [(x )}
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Diff0l1 Answers for No.11188
Ansl = (k=-4) Ans2 = (k=5) lmms—[“:'4§} An&#—[a:7}
- - ) ) - - s s - b:2 s s - b:5
Es " 1=l =55 “
' _3 _’5 2=[f(b)=63.68, h=0.2, RateOfChange = 43.400 ]
AnsS = 4o (; 10) , Ans6=| 3=[f(c)=59.27, h=0.1, RateOfChange = 42.700 ]
' _5 _’3 4=[f(d)=55.4207, h =0.01, RateOfChange = 42.070 ]
.6 - ) L .5 =[RateOfChange at the point a = 42 ]
I=[fr)=27r] 1 I d=[f(r)=mnr"] |
=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = [27f(r+h) 27”} , , Ans8= ; n(r+h)2—nr2}
- h
L[ 4=[27nr],.5=[14n],.6=[8n]]]

NQTX® >~ X




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXKX XXX KKK XKLL XKL XKL LKL KKK LXK LXK KKK KKK K KKKKKKKKKME6/1-6600505-00014XX

Diff0l1 Answers for No.11505
a:3 a:6
Ansl =(k=4), , Ans2=(k=3), , Ans3—[b:_53}, , Ans4—[b:3}
'2] _:(( 63’278)) r —[f(a)=43] ]
S 2=[f(b)=47.92, h = 0.2, RateOfChange = 24.600]
AnsS = 4_'(_ 4,12)f , Ans6=| .3=[f(c)=4543, h=0.1, RateOfChange = 24.300 ]
B 4=[f(d)=43.2403, h = 0.01, RateOfChange = 24.030 ]
-4 L .5 =[RateOfChange at the point a =24 ]
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)"]
Ans7 = _[2ﬂ(r+h)—2ﬂr} , ., Ans8= n(r+h) —mnr
= p _ p
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[4n],.6=[6n]]]
L2
(x)= ]
f(x+h) a
2=\f(x+h)y="7"7"""7"7- ¢
Ans9 = (x+h) fx |k
@
M
U
L T
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Diff0l Answers for No.12113

a=-1 a=4
Ansl =(k=3), , Ans2=(k=5), , Ans3—[b:_32}, , Ans4—[b:2}
' _3 _’7 2=[f(b)=35.96, h = 0.2, RateOfChange = 24.800 ]
AnsS = 4_'(:1 14) , Ans6=| 3=[f(c)=33.44, h=0.1, RateOfChange = 24.400 ]
' _5 s 4=[f(d)=31.2404, h = 0.01, RateOfChange = 24.040 ]
.6:4 L .5 = [RateOfChange at the point a = 24] |
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
T h 3= i
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[127],.6=[10x]]]
]_[f _ﬁxﬂ
A= 1f(x)= 1 o
A3 (x4 a
2=y =" p
Ans9 = I3 eeny 435 : é
_ 4 4 M
3= p U
3 | T
[.4=[%},.5=[3«/§],.6=[4«/§]}

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKKKKKKKXXXXKKKKKKKK XXX XXX KKK KKK KKK KKK KKK KKK KX KK KKK KKKK




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXXX XKL XKL KKK XKLL KKL XKL LKL KKK LXK LXK KKK KKK K KKKKKKKKKIME6/1-6600505-0001 6XX

Diff0l Answers for No.12541
Ansl = (k=49) Ans2 = (k=6) A 3—[“:1} A 4—[“:8}
nsi = - s s ns<z = - s s nsd = b:_647 s ns4 = b:3
e " 1= lil=5) ‘
L 2=[f(b)=37.96, h = 0.2, RateOfChange = 24.800 ]
AnsS = 4_'(:1 1) , Ans6=| .3=[f(c)=3544, h=0.1, RateOfChange = 24.400 ]
R 4 =[f(d)=33.2404, h = 0.01, RateOfChange = 24.040 |
.6 B ) L .5 = [RateOfChange at the point a = 24]
d=[f(r)=27nr] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
T h 3= i
L[4=[2n],.5=[2n],.6=[2n]]] [ 4=[2nr],.5=[127],.6=[167]].
]_[f _ﬁxﬂ
A==y [ M]
A3 (x+h) a
2= f(x+h)=—4 t
Ans9 = I3 eeny 435 . é
4 4 Y,
3= p o
3 L T
[.4=[%},.5=[2«/§],.6=[4«/§]}
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Diff01 Answers for No.12590
a:3 (122
Ansl = (k=-5), , Ans2 =(k=2), , Ans3—[b:1}, , Ans4—[b:7}
‘21_:((41’149)) i 1 =[fa)=123] ]
) _3 _s 2=[f(b)=136.12, h =0.2, RateOfChange = 65.600 ]
AnsS = 4_(_ 70 , Ans6=| .3=[f(c)=129.48, h=0.1, RateOfChange = 64.800 ]
_5 N 3 4 =[1(d)=123.6408, h = 0.01, RateOfChange = 64.080 ]
6 B ) L .5 =[RateOfChange at the point a = 64 ] |
i d=[f(r)=2nr] i | d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]
Ans7 = 3_[2n(r+h)—2nr} \ , Ans8 = n(r+h) —mr
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[8n],.6=[47]]]

ﬁxz}
2
2= [f( +h)—[(x+h)}
(x+h) fx

(2] [25] . 25]

[.4—
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

[f(X)—

Ans9 =

NS X® >~ X
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Diff0l1 Answers for No.12621
3 a=38
Ansl = (k=3), , Ans2=(k=2), , Ans3 = [b 3} , AnM_[b:J
‘21_:((51’360)) i d=[fla)=117] ]
' _3 _6 2=[f(b)=128.48, h=0.2, RateOfChange = 57.400 ]
AnsS = 4_(_ 9) f , Ans6=| .3=[f(c)=122.67, h=0.1, RateOfChange = 56.700 ]
_5_ % 4=[f(d)=117.5607, h = 0.01, RateOfChange = 56.070]
6 B ) L .5 =[RateOfChange at the point a = 56| |
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[10n],.6=[167]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K

- 9

£ [25] 0]
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Diff0l Answers for No.l1l2641
Ansl = (k=2), , Ans2=(k=2), , Ans3=[a:-l}, : Ans4=[a:8}
b=-2 b=4
220 19) 1= [T =55]
S 2=[f(b)=59.92, h = 0.2, RateOfChange = 24.600
AnsS = 4=(5.7) , Ans6=| 3=[f(c)=5743, h=0.1, RateOfChange = 24.300 ]
s 4 =[f(d)=55.2403, h = 0.01, RateOfChange = 24.030 ]

-2 L .5 =[RateOfChange at the point a =24 ]
d=[f(r)=2nr] ] d=[f(r)=mnr"]

2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]

Ans7 = 3:|:2TE(I’+h)—2TEI":| R , Ans8 = 3 n(7+h)2—ﬂ:r2:|

. p 3= p
[ 4=[2n],.5=[2n],.6=[2n]]] [4=[2nr],.5=[147n],.6=[127]].

ﬁxﬂ

A =[f(x)= 1

M
2
2= f(x+h)=m L;
4 h
Ans9 = ﬁ(x+h)2_ﬁx2 e
4 4 by
U
T

T h
[ seofi o [5

[4_
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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Diff0l1 Answers for No.12674
a=34 a=4
Ansl =(k=5), , Ans2 =(k=06), , AnSS—[b::z)}, , Ans4—[b:2}
‘21_:((63’250)) i d=[fa)=118] ]
' _3 _’5 2=[f(b)=129.48, h = 0.2, RateOfChange = 57.400 ]
AnsS = 4_(_ 8) , Ans6=| .3=[f(c)=123.67, h=0.1, RateOfChange = 56.700 ]
' _5_ 3 4=[f(d)=118.5607, h = 0.01, RateOfChange = 56.070]
‘6:2 L .5 = [RateOfChange at the point a = 56 ] il
d=[f(r)=271r] I A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[271(““}1)—27”} ., AnsS= n(r+h) —nr
3= P - p
L[ 4=[27nr],.5=[8xn],.6=[107]]]

L[.4=[2n],.5=[2n],.6=[2m]]]

.zz{f(x)=ﬁ4x2} T
.2:[f(x+h)=M} p

Ans9 = ﬁ(x+h)2_ﬁx2 . é
. 4 h 4 ]}f
[ B ag]

(V1021 0) 19:9:9:9:9:9.9:9:9.:9.9.9.9.9.9.9.9.9.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0:0.0:0.0:0.0.0:0:0:0:0:0:0:0:0:0:0:0:0.0.0.0:0:0:0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.9.9.9.9.9.9.9.9.9.9.9.9.0.0.0.9.0.0.0.0.0.0:4
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Diff0l1 Answers for No.12728
a:2 a:2
Ansl =(k=4), , Ans2 =(k=5), , AnSS—[b:%}, , AnS4_[b:8}
2269) " 1=l “
’ _3 5 2=[f(b)=100.84, h =0.2, RateOfChange = 49.200 ]
AnsS = 4_(_2 7) b , Ans6=| .3=[f(c)=95.86,h=0.1, RateOfChange = 48.600 ]
) _5 N ’3 =[f(d)=91.4806, h = 0.01, RateOfChange = 48.060 ]

s B ) L .5 =[RateOfChange at the point a = 48 ]
I=[fr)=27r] ] I d=[f(r)=nr] |
=[f(r+h)=2n(r+h)] 2=[fr+h)=n(r+h)]

Ans7 = [27f(r+h) 27”} , , Ans8= 3 [Tt(r+h)2—nr2}
o h
=[2n],.5=[2n],.6=[2x]]] [4=[2nr],.5=[8xn],.6=[16n]]]

ﬁxz}
2= [f( +h)—[(x+h)}
(x+h) fx

[f(X)—

Ans9 =

NQX® s>~ K

- 9

£ [25] 0]
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Diff0l Answers for No.14247

a:3 a:7
Ansl = (k=29), , Ans2 =(k=06), , Ans3=[b:1}, , Ans4:[b:4}
é]—: ((83,327)) _ 4=[Ma)=>52] |
' ‘3 o 2=[f(b)=158.20, h = 0.2, RateOfChange = 31.000]
AnsS = 4_(_4 5) b , Ans6=| .3=[f(c)=55.05h=0.1, RateOfChange = 30.500 ]
' ‘5 5 4 =[f(d)=52.3005, h=0.01, RateOfChange = 30.050 ]
.6:2 L .5 = [RateOfChange at the point a = 30 ]
A=[f(ry=2nr] ] | d=[f(r)=nr"] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[14n],.6=[16T]]]
]_[f _ﬁxﬂ
A= 1f(x)= 4 oYa
A3 (x4 a
2=y =" y
Ans9 = I3 eeny 435 . é
_ 4 4 M
- p o
3 | T
[.4=[%},.5=[2«/§],.6=[3«/§]}
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